
For Baldor Sales and Support, Please Contact: Walker EMD • http://www.walkeremd.com • Toll-Free: (800) 876-4444 • Phone: (203) 426-7700 • Fax: (203) 426-7800

 
Product Information Packet 

GA9S 
PAIR EYESHIELDS W/ ON-OFF SWITCH

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.



For Baldor Sales and Support, Please Contact: Walker EMD • http://www.walkeremd.com • Toll-Free: (800) 876-4444 • Phone: (203) 426-7700 • Fax: (203) 426-7800

Page 2 of 3                                

                                                                  Product Information Packet: GA9S - PAIR EYESHIELDS W/ ON-OFF SWITCH

Parts List
Part Number Description Quantity
G7AP1006A01 EYESHIELD BODY, MACH 2.000 EA
G7AP1007A01SP 4"X6"PLEXIGLASS BLANK FOR GRINDER EYE SH 2.000 EA
51XW1032A06 10-32 X .38, TAPTITE II, HEX WSHR SLTD S 4.000 EA
HW1000A10 #10 FLAT WASHER (SAE) 4.000 EA
WD4003A01 1309-L01.9LAMP SKT(CIR F) (SO.ELEC) 2.000 EA
51XT0632A06 6-32X3/8 TY23 HXWS SLDSR 2.000 EA
NS2513A01 INSULATOR, LAMP SOCKET 2.000 EA
HA6102A01SP MTG. BRACKET LIGHTED EYE X SHIELD  PLATE 2.000 EA
WD4102A01 SR-6L-1 HEYCO STRN RELIEF OR 23MPO6L10 M 2.000 EA
LD5001A01 CORD & PLUG SET 18/3 SJTOW 105C 300V 8' 2.000 EA
WD4006A01 WIRE JOINT, RB-4 OR RB-44 6.000 EA
SP9026 SWITCH #R135-BL (CARLING) X 2.000 EA
WD1000B03 BURNDY YAV14 TERML (1M/PK) 2.000 EA
51XW0832A07 8-32 X .44, TAPTITE II, HEX WSHR SLTD SE 6.000 EA
HA6103A01SP SUPPORT ARM, EYESHIELD (PLATED) 2.000 EA
83XN2520A12 1/4-20 X 3/4 LONG CARRIAGE BOLT 2.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA
XY2520A12 1/4-20 HEX NUT, DIRECTIONAL SERRATIONS 2.000 EA
HA6094A01SP CLAMP FOR SUPPORT ARM X  PLATED 2.000 EA
10XN3118A14 5/16-18 X 7/8 HEX HEAD CAP 2.000 EA
HW1001A31 LOCKWASHER 5/16, ZINC PLT.591 OD, .319 I 2.000 EA
10XN2520A14 1/4 20X7/8 HX HD CAP 2.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA
11XT0832G06 8-32 X 3/8 TY 23 TAPPING 2.000 EA



For Baldor Sales and Support, Please Contact: Walker EMD • http://www.walkeremd.com • Toll-Free: (800) 876-4444 • Phone: (203) 426-7700 • Fax: (203) 426-7800

Page 3 of 3                                

                                                                  Product Information Packet: GA9S - PAIR EYESHIELDS W/ ON-OFF SWITCH

Parts List (continued)
Part Number Description Quantity
MP1002A01 4X6 MINIBAG 4MIL. ZIP 1.000 EA
LB1454 #0153-02-03-S1550/E47175 2.000 EA
LB1065 LABEL, GA9S E.S. 2.000 EA
MN909 EYESHIELD MTG INSTR. FOR GA9, GA10 & GA1 1.000 EA
MG1000G01 400-0116 BATTLESHIP GRAY LACQUER (55G) 0.010 GA
G7PK5001A01 CARTON ASSY,FOR GA9-2 EYE SHIELDS 1.000 EA


